l.

2.

3-

b,

b.

1o

EXT L

Efoe,ss ‘bar\ \5°

clue '-ﬂwddaﬁ
TRIG. REVISION  Assignment

Find \im ton 2
X =>o S\ 2 -
Prove tant = sin2% + SinX

14 cosdx +« cOSXL

A L.

1n exack form it a rational denominato”

On e same axes)drau.nca\ skeichesy gf 3=c_o§ X anot

g cov

,.{Q!‘ -—TT <« » T
. -_— N e A
2 2

lohat is e ?e.r'mo\\c.\'hﬁ O'F 3"'c.os x ?

Skou -’:_ka'\- cos (_A-\-B) & cos (a-%) = 2cosA.cos B

Heace or

"otheruvs e  evaluate

(o]

wr\—\g‘ oS 26" " "‘C.rﬁ\g O‘Q COSsS 6“ ‘

. COS (_6_'\ 1~ Yerms o{ COS e
p R _

.
J‘COS 2x .M evalvate .

_Ex press

Hente

. . . M . . . . } .
bsin ot o Bcosx 1n Yhe ;form Asir\'b_(u...%_q
sketch - 3— bawx~ 8cosdc.
bsinx + Becos> = §

manj solotions . o & e equa&mn

Jor csx@T |

/ S
2 cosdox. cos 2 Ax

k;ncc exXEsSS

N,

and  state  how

F\no\ e aw\e_ angle \aﬁute,r\ Yo fo\\oumﬁt’smts’\‘\ \\r\cg
A +2Yy-3 =0 . % . Bxw Y+ k=0

So\we

A3t & — cos L5 = —

£

e ke r\earcs* o\cgrce_

06 < 2T




EXT1 : TRIG, REVISION ASSIGNMENT

tan (+5°-30°)

"

) +an 15°
tan 45° - 4an30°
] + tan 45° fa0.30°

Gl~

"
N
{}
13
&;
t

!»
Q
\
‘z
l‘
S—

V3 #7 ET
- FHrl~2/3
V3) - )2
= 2(2- )
2

I\
'
D]

—I—d



. Lm. £an2x

KX—> 0O SIink
lim, l
x50 Jx:éiaix _a
2 x" SINx
2 2x /X /

PHS
3 LSs sindxising
[+ Cos2x+ cosX

= 2SinX Cos X +SinXx

I + ,,(2(,05 lé—") TCos L

- 2.5inX Cosx 4 SInX

/ 2(0‘52’/ | 10U x

2 SINX L 05X 4 LN

2cosy + (o5 X

MILTZE+ S\ n X :
= == _ 25T M Cogx+§in_X.

Cogoc (2 ¢ oJJC-H)

s:'mc(o'lc@—

\J




i . Jr ‘ ' \%
;I o ,7} @ ar w i
L = . 6 2 2
hat A th o «pe,n'ooljd'(‘y Z% 7= cos 2} A
LS =

CQSCA"\B)#(OQCA*[Q
/ CQSACOSg s:rLAS/fLB T(CQSAQOGB f@,ﬂ/,q\g,/\,)

C0sA cosB- sinAcTnB + CNHCOSBW

= Qcos%c:es@
= RHS

Tr

2(_@553:(052)(
- COSC3JL"‘2"§ +C05(,3J‘23)
> oSN 4+ (e

‘ CosSy + casx o{&: 4 sinS + sinX l
& S

’ O
2 SI0SY 5 6in va
N @)

‘3_: G-H-O-S:] — COJ :S_i

O ~=




) A (e (B0

) _
L& 2\ =

Cos? (&) = L0s& +])
2

Y 2

= CCuéf/

2

1 Casix= QCOJLA:‘ /

_esEaw  Coslxtlz 2¢08%s

cos2x =~ 1 ( 1+ cos2x
. )

“‘{mm Ls = L(hcostx)

: __llflu%%c olx f@h&@%ﬂ&'nz{ﬂv&(

R | < 0C+ sin L{)L)'+L
2

X 4 u
3 + C
&

-4 -



8. éf)hff gCOJ} 2

74.\/“ 6zf £ 2 Ngon @ C W

'Q: [ Osin Cx+oL>
’GCU’LQL: ﬁ_
» 6
o= 07213

h | ( sinx+ 8 cesax= [0 sin (x+0O. ‘7239

2 solutron=

I,I'.S/ >/
X ¥ t 1 | l a: : 6/-‘1’(\ ﬂ\
-5 -4 3 -2 - /

2 6Sing +(fca>&

 __/_~ | »ff‘-ﬂ“ srwpi\.

bginxr8esa= |

: - 3-x
q ljz*i/\)c J: ‘?)l—‘f h as +Lu0 JDM%
M, =

.-.5..



- « ool
P M.km

.
wuw """'Mmmww

!D 3510-6- (cmle“Q
gs:ﬂé - é/ 2sin ,6) - &

2sin® —/ +lsmie =~ 2

Ssing-l +Lsin?2g +2X= O
=5+ 28in?Q +3sino 4l =
(2¢ine + ] Y(siné 4/)

D 2s8ind+l= O sine4l= O

¢ 2sin®=~ | .
/>0 A ? $int= =l o= —]
T %
. B=3m
,,9: T ————
%‘fﬂg >

-6 —



